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SCIEMTE CLYMMIAD FOUNDATION

DPS Science & Maths

TALENT EXAMINATION
2016-17

Time : 2 hrs. I Guidelines for the Candidate Tatal Marks : 100

1. Thepaper congistsof four sections —
Physics {20 Questions), Chemistry (20 Cuestions), Biclogy {20 Questions) and Mathematics (40 Questions)

All questions are compulsory and camy equal marks, There s nd negalive marking. Use of caleolator is not permitted.
Wyrile your Name, SchoolName and Roll No. clearly on the Answer sheet and do not forget to sign.

There iz only one correct answer hence mark one choice only.

L

Answer sheet is given on the fasl page. Darken your choice with HB Pencil or Blue / Black Ball Point Pen oniy
For Example:

Q.18 7 In he water oycle, condensalion is the process of
{A) Waler vapour cooting down and turning into a liguid
(8] leewarmning up and tumingintoalkuid
{C) Liguid cooling down and luming infoice . .
{0 Liguid waming up and tuming intowatervapour. ic. @ B T A

As the comect answer ig option No. (A), he candidate should darken the circle correspondin g tc oo N2 (A)
6. Roughwork should be done in the blank space provided in Llhe boaklet.

[ SYLLABUS |

Science : Motion, Farce and Laws of Motion, Gravitation, Wark and Energy, SoL- = &4atiznin Cur Suecurd ngs. |s Batle- Around
Us Pure, Atoms and Molecutes, Structure of Atom, Cell-Trie Fundamantal Unit of Life, T =y, Beers by i Loy Gigar s,
Why Do We Fall 1ll, Natura! Resources, Impravement in faod Resources.

Mathematics : Verbat and Non-verbal Reasoning.

Number System, Polynomials, Co-ordinate Geomelry, Linear Equation in Ty 2 acles, Limes ard A-g e Tniang es, Cirdes,
Quadrilaterals, Area of Parallelograms and Triangles, Statistics, Prebak:" 1y | Sy Fomnula, Cornens g Quaes s 25, introductian
to Euclid's Geometry, Construction, Surface Areas and Volumes.



1. Whlich of the following graphs represent unlform motion?
3 £ 3z S
o 2 = =
] [ = g
:I'irne * _-Tli'I'IE".- N o Time > o Time
i tin {i] (i)
{AY (i) and (i) (B} {i}and {iv) {C) (iii) and {iiy {D) (i) and (iii)

2. Astoneistiedtoone end ofa string, and is rotated in a horizontal circle whose centre lies at the other
fixed end of tha string. If the stone is released during its motion by letting the fixed end free. The path
described by the stone Is
(Al Alang a straight line towards the cenlre of the circle
(B} Along a straight line (radially) away from the centre of lha circle
{C) Along a straight line tangential to the circular path
{0} It doesn’t change ils path.

3. Ajet engine works on the principle of
{A) Conservation of linear momentum {B) Conservation of kinetic energy
{C) Conservalion of angular momenlum iD) Conservation of inerlia.

4. In an isolated system
{A) Some external forcs acts on lhe system
{B) Velocity of the particles of the system doesn't change
{C) Tolal mementum remains conserved (D} Al of thess.

3. Aspaceship brings a rock of mass to the earth. On the surface of earth
{A} Mass of rock changes but not the weight (B} Weight of rock changes but not the mass
(C} Mass and weight of the rock remain same (D) Both mass and weight of the rock change.

6. A ball thrown up vertically returns to the thrower after 6 seconds. The velocity with which it was
thrown is
(A) 30 m/s (B) 302 mis () -2 mws (D) 30 x 2 m/s

7. Acricket ball weighing 100 g and moving with a speed of 20 m s strikes a bat and remains In contact
with it for 0.1 s. The averags force exerted by the ball on the bat is
{A) 100 N {B) 40N {C) 20N D) 1N

8. Aliquidis taken in different shaped vessels as shown in the figure.

Lk el
Tha vessels are filled with the Jiquid up to same level. We know that
{) Pressure is Inversely proportional to the area on which force acts.
{ii) Pressure depends on the depth of liquld column.
Which vessel will have the highest pressure at the bottomn?
(A) 1 ] ) {B) 2 C) 3 (D) 4
SQF
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9. Match the items of Column A with the corresponding items of Column B,
Column A Column B
1. Sound waves of frequency less than 20 Hz  {a) 20 Hz to 20,000 Hz
2. Audible range of frequency {b} Wavelength
3. Distance between two successive compressions (¢} About 340 m s-1
4. Speed of sound waves in air {d} Infrasonic waves
(A) 1-(d); 2-(a); 3-(b); 4-(c) (B} 1-(b); 2-(c); 3-(d); 4-(e)
(€} 1-{a) 2-(b); 3-(c); 4-(d) (D} 1-(c}; 2-(d); 3-(a): 4-(b}
10. Which of the following statement is not true regarding circular motion?
{A) The body moves with a uniform speed. {B) The bady moves with a variable velocity.
{C} The body has a uniform aeceleretien {D] The body has a uniferm velocity.
11. Aniren ball and a glass ball of same size are mmersed In water. Which of the following statement
Is correct?
{A} The weight loss in iron ball is more. {B) The weight loss in glass balt is more.
{C) The buoyant force cn iron ball is more. {D) The buoyant force is same on both the balls.
12 Ehoese the carrect statement
{A} Alow pitch sound has high frequency. (B} A high pitch sound has high frequency.
{C) Soft sound has large amplituda. (D} Louder sound has small amplitude.
13. In the given greph the work done during the first 5 eeeend is 4
(A) 104 57
By 12.54 "o
() 12. N
cy 15 [ :
(C} VT 25 4
{0} 17.54 t{se:onds}
14. The velocity of a partiele Increases from wto v In a time ¢ during which it covers a distance 5. If the
particle has a uniform acceleration a, which one of the following equation does not apply to the motion?
¥o-u
(&) 25= (v + ol (8) a=""* (©) ¥ = it~ 2as ® s= v+ Jat)t
15. Which type of energy cun\rerslon taking place when a compressed spring is released?
{A) Molecular energy to potential energy. (B) Kinetic energy to poteni:al energy.,
{C] Potential enargy lo kmetn:: energy. (D} Potential energy to metecular energy.
16. A bodythrown vertically up, at the maxlmum height
(A} The velocity is not zero but acceleration is zero {B} Theacceleration is not zero but velocity is zero
(C) Bolhacceleration and velocity are zero {D} Both acceleration and velcmit:.r are not zaro.
17. If "X represent the praduct of the masses ef twe hedles and F ba the farce of attraction hetween the fwo
bodies, then Fvaries with X as
" F 1 F 3
A\
F F F
{A) (B) (C) \ (D}
T Y —--—-:::-:F l_. B ———Y
X X ¥ X
18. Pressure ata point Inside a liquid does not depends on

(A} The depth of the point below the surface of the liquid (B) The nalure of the liquid
(C:l The acceleretlen due to grawty althat point (D} The shape of the containing vessel.
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19. Threeblocks A, Band C of masses f0 kg, 3kg, and 5 kg respectively are connected by alightinextansibt
smooth horizontal ptane. If a force of 36 Nis applied to the string connected to C.

10 kg 3 kg 5 ka
T L& T
The ratio of T, and 7, is
{A) 10:13 : iB) 10:2 {C) 13:10 {D} 1:5 .
20. A sharp knife can cut food much more easily because
(A} liproduces a greater pressure on Lhe food (B} Friction between the blade and the food is reduced
(C) It produces a grealer foree than a blunt knife (O) Its mass is less as the bada is thinner.

21. Types of solutions In boxes P, Q and R respectively are

trrsevnalg g g
3t ao4 L
P Q R A L
(A) Suspension Colloidal Soiution trrizeenn td
{B) Solution Colloidal Suspension E;E_:EEEE: .s
(C) Solution Suspension Calloidal t1dsvrss(B & @
(D) Suspension Solution Coiloidal P Q
22. Match both the columns and selact the correct aption from the codes given below.
Column | Column It
(a} Mercury i) Acidic oxide
b} COQ, tii) Liquld metal
{c) Gold {ili) Basic oxide
{dy Mgo {iv} Malieable
(A (@) - (i), (b) - i), {c) - (i, (0} - {iv) @} (a)-{ii). (b) - (i), {c) - tiv), {d}- (iii)
_ &} (a)-(iv), (b) - (if), () - (i), (d) - (i} (@) _{a)- (i), {b) - (i), {c) - (iif), () - (iv)
23. Considerthe following statements :
Assertion (A) ; Gun powder is an example of mixture.
Reason {R}: Tha compenents of gun powder are not presentin a fixed ratio.
Of these statements -
(A) BothAandR are true and R is lhe sorrect explanation of A
B} BothAand R are frue bul R is not the correct explanation of A
({€) Adistrue but Ris false
B} Aisfalse but Ris true,
24. Favourable conditions for evaporation are
. Increase in surface area . Increase in temperature
il. Increase in humidity IV. Merease In wind spead
(A iand Il only (B) Wand lll only
{C) 1 land Iv (D) LI, M ang iv

25,

Saft .
The conclusion we can draw from the above experiment is that
{A} Nature of matter is continuous
(B) Matter is made up of particles
({C} Pariicles of salt get into the spaces belween the particles of waler
@) Bolh {B) and (C}
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27.

28.

30.

If 2.5 g of a solute is dissolved in 25 g of water to form a saturated solution at 298 K, the solubitity of the
solute is

(A} 0.1 {8} 10 (C) 100 (D) 50

Choose the correct comparison between solution and suspenslon.

Solution Suspenslon
(A) - Homogensous separated by non-ﬁomogeneous not separated
- .. filraticn i by filtration |
nol separated by i saparated
{8) | Homeganeous filration non humogenecf-us by filtration
h separated by not separated
{C} | Nan omogeneous. fitration homogeneous - byfiteation
h not separated by separated
[D] Non omogen:?uus ﬁltra!i_on _"_hnmngeneous B by filration o
_ Gl d
Neha sets up an experiment as shown in the figure. Aok ass fa
P 9 = Paper clips
She is trying to Strlp of filter ; . Jar
o © ! paper
(&) Check the sclubility of ink in watar _ Strip of fiter paper
{8) Find out the number of components of ink Line d Spot of ink
{C} Observe the effect of gravity on the process b;,“;ﬂ:':;r . 4 -Water
(D} Observe absorption of ink on paper a) pot of ink “‘-{Ei’)
In the dlagram air is mmpressed when the plunger moves from Ptu Q This is . pfurgar

because air

(A) Iz highly compressible

8) Has particles which are constantly moving

{C) Hasparticdies which have intermolecular forces
Dy Has parht:les of neghgmle mass.

The uptmn shnwmg the correct relatwe mass and relative charga of a pmtun neul‘.ron and electron
respectively is

Proton Neutron Electron
felative mass |relative chargae| relative mass |relative chargel relative mass |relative charge
(A) 1 +1 1 0 very small -1
(B) 0 +1 0 0 1 0
(C) 1 0 1 0 1 0
{n )] 1 +1 0 0 very simall -1
L What weight of oxygen gas will cnntain the same number ofmolecures as 55 g of nltrugen gas?
(A} 64g 8 Rg {C} 86 g IDJ 26 9
32 Match both the culumns and select the correct ﬂptiOﬂ from the cudes gwen beluw
Colurnn | {Fuel) Column H {Uses)
{a) LPG {iy Paints
{b) Bitumen {ii} Ointments
{c) Paraffin wax {iii) Aviation fuel
(d} Petrol {Ilv) Fuel for home
(A} (@) - (i), (b) - (i}, (c) - (iv}, {)- (i} (B} {a)- (i}, (b)- i}, {c} - {Hi}, () - (iv)
() {a)- (iv}. (b}- {i), () - {ii). (d) - (iii) (D (&) - (iv), tb) - (i), (e} - (iii}. (d) - {ii}. _
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Statement | Number of molecules of water in 1B u of water is 5ama as the number of moleciles of SO,
in 64 u of 50,
Statement Il - Number of molecules of water in 18 g of it is same as the number of molecules af

80, in 18 g of 50,
{A} Both statements | and Il are frue and statement Il is the correct explanation of staternent [,
{8) Bolh statements | and |l are true but statement Il is not the correct explanation of statement |.
{CY  Statemenl | is true but statement Il is false,
{3} Statement | is false but statement Il is true.

34. Cnncenh’aﬁnn ofasuluhnn in mass hyvu!ume peroentage when 36 g of sodium chlonda is dissolved in water
ta form 145 mL of solution is
{A) 243 [B] 329 [C] 0. 248 {D} 0.329
35. Ll occurs in nature in twu isotopic farms wlth masses 6. 015 u am:l ? 016 u in the ratlo 7.42 : 92.58. The
average atomic mass of Li atom is .
{A) 6.9 [B] 6.12 ic) 7.1z Ly 7.00
36. Statement| : The atoms of diffarent elaments havmg Same mass numhar but different atomic numbers
are known as isohars,
Statement II : The sum of protons and neutrons in the isobars Is always different.
(A} Both statements | and Il are true and statement 1l is the correct explanation of statement I
(B} Both statements | and Il are true but statement Il is not the correct explanaticn of statement |,
{C} Statement lis true but statement 1l is false. (8] Statement lis fa!se but statement 1l is true.
37. Solid == Liquld —= Gas . Which of the followIng statements is correct?
{A} Conversion of gas to liquid can be done by increasing pressure and temperature.
{B) Conversion of liguid to solid can be done by increasing temparature and reducing pressure.
{C) Conversion of solid to gas can be done by decreasing temperature and increasing pressure.
{D} Canversmn of liquid to 0as can ba done by mcreasmg temperature and reducmg pressmre
38. Fullowmg are three beakers contalnlng mixtures as given below :
Fa. zi '..
HacCl +
H.O
{x)
Identify the correct statement.
iA) (X} and {Z) represent suspension, [Y) represents colloid.
(B) (X)and{¥)represent true solution, (£) represents suspension,
(C) () represents true solution, (¥) represents colloid and (Z) represents suspension.
(D) (X) represents true solulion, {¥) represents suspension and {Z) represents collcid.
29. Match Column | with Column Il and select the correct option from the codes given pelow.
Column | Column I
(a) Liquid {p) Highly compressible
by Gas {q) Definite volume
ic) Plasma {t} Super low density
(d) Beose-Einsteln condensate (s} Super energetic
(A {a)-(p) (- (g} {c) - ). (d) - (s) B} (a)-(qk (b)-(p). {c) - (). {d} - {s)
() {a)-{q). (b} -(p). {c} - (s}, (d) - (1) O} (a)- ir) (b) - (p). {c) - (q). {d}- {s)
SOF g | Class-4




40. Choose the correct statement.
(A} Components of air cannot be separated al different heights.
{B) The constituents of air can be separataed by physical means.
(C) Air is a hetercgenecus mixture. (D) Al of lhese.

BIOLOGY

41. Xylem cansists of tracheids, vessels, xylem parenchyma and xylem fibres. One of these compohents
helps in sideways conduction of water, stores food and is living. Which of the fellowing figures
reprasents that component?

T
ey,

1%
e

_’

LINEY
e
e
G

(B}

T
-

42. Meristematic tissues of plants include
{A) Mature fruits, tips of stem and roct, cork cambivm  {B) Stem and root tips, vascular cambium, cork cambium
{C} Vascular cambium, cork cambium, malureleaves {D} Tips of mature leaves and mature fruits

43. Match column | with column Il and select the correct option from the codes given below.
Column | Column Il
{a} Areas of protected land for {i) Matlonal Park
conservation of wild life, plant and
animal resources and traditional life
of the tribals living in the area

(b) Area resarved for wild life where {iiy Biosphere Reserve
they can freely use the habitats and
natural resources

{¢) Areas where animals are protectsd {iii} Sanctuary

from any disturbance to them and
thelr habitat

Ay (a)- (i), (b) - i), (c) - (Hil) 8) (a)- (0, (b}- i), {c] - (iii)
_ & @ e e@-0 @) (@) (i), {b)- i), () - (1)
44. The diagram shows a plant cell as seen under a microscope, Match the
funct_ions _crf the organelles mel_'-th::ned as a, b, c, d, e B
Contro! of entry| Keep the|pypioification Phntosmhesi;!ﬁigmity and,
of substances cell clean .s_hape of celli
{A) o a | b ¢ 4
]
(B) a b ¢ d e
{C) G a € b d
(D} b a ! : e
43. Match column | with column Il and sefect the correct option from the codes given below.
Column | Column 1l
fa} Squamcous epithelium {i}y Iris of eye
ib) Columnar epithelium {li} Fallopian tuba
ic) Cuboidal epithelium {lif} Stomach
(d) Ciliated epithelfum (iv} Alveali of the lungs

(v} Internal ear

{vil Pancreatic duct

(vli} Gall bladder
{A) (a)-iii), (b)-(it, vi), {c)-(i), (d)-{iv, vii) (BY (a)-{iv, v}, (b-{ii, vii), (e}, vi), {d}-(ii)
{C} (@)-(iv. v}, (B)-(iil, wi}, (e)}-(i), (d)-{i, vii) (D) (a)-di) (b)-(ii, v) (e)-(ii), {d)-{iv, vi}
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46, In which of the given plants there is requirement e AR
of water to complete their life cycle? Y

(& (iYand (i) |

(B) (i), {ii) and {ii} '[R;’? NI
(C) (i) and i) :-L_-c.g ;?h %’\’
{0} (i) and {iv) ' Ve A RAY

i} {ii) iii}

: hr]

—

47. Crotolaria juncea, Seshania aculeata and Cyamopsis tetragonoloba are
(A} Greenmanure {B) Farmyard manure {C) Compost {D} Mixedin fertilizers

48. These animals are cold-blooded, have scales and breathe through lungs. They have four-chambered heart.
They lay eggs with tough covering and do not need to lay their 2ggs in water.

Which of the foltowing animals Is referred to inthe above paragraph?

(B)

(C) (o)

49. Microorganisms are used for the large scale production of alcohal, wine and acetic acid. X Is used for
commercial production of alcoho! and wine. The process of conversion of sugar into alcohol is known as Y.
What are X and Y respectively?

(A) Lactobacitfuzs, Decantalion {B) Strepfococcus, Distiltation

(C) Yeast, Fermentation (D) Penicittium, Aerobic respiration

50. Which ofthe following statements are trireffalse?
(i} Oviparous animals give birth to young cnes,
{ii) External fertitization takes place in frog.
(iii} An embryo is made up of a single cell,
(ivl Anew human individual develops frem a cell called gamete.

{v) Ameaebareproduces by binary fission. (vi} Azygoteis formed as a result of fertitizatlon.
{A) (i), {iii} & {iv} are false, fii}, (v) & {vi) are true {B) (i) & i) are falze, (i), (iv), (v) & {vi) are true
() (i) & (iv) are false, fi), {ii}, (v} & {vi)are trua {0) (i) & (v) are false, (i), (i), (iv) & (vi} are true.

91. X is a phylum. The organisms belonging to X are bilaterally symmetrical, triploblastic and pO5SE5S
pseudocoelom. Identify X,
{A)} Platyhelminthes (B} Annelida iC) Coelenterata {D)] Nematoda
52. Selectthe correct statement(s).
{i} Helicabacter pyforiis the causal agent of peptic ulcer,
(i) Staphylococcusis responsible for acne.
{til) Trypanoseoma causes kala azar. (iv) Leishmania donovaniis a bacterlum.

(A} (i} and (ii) (B) (i) and {jii) {C) Only(iv) D} Only (i)
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53.

The glven figure shows the carbon cycle In nature. dentify correctly the processes labelled as L, 11, 1
and IV.

€O, in wate
€O, in 2 r

L b Ra
hu‘-’- atmusphere 0.03 % Sy l
i
; 7]

Coal depnsnts Aquatic
Volcanic activity

prganisms
Green plants——)Anlmals—}DEGDMFﬁSErs

\M,/

| v
{A} Photosynthesis Resplratmn Resplratmn Decomposilion
(B] Respiration Photosynthesis Respiration Cecomposition
{C} Photosynthesis Combusticn Respiration Decomposition
(D) Phc:toaynthesns Combustion Combustion Drecamposition

Plants get their nitrogen

{&) By absorbing nitrogen compounds present in the soil (B) By laking in nitrogen gas from the airintoihe leaves
{C) From dissolved nitregen gas in the soil water (D} From photosynthesis

The given figure shows the position of peptic ulcers, These ulcers cause acidity- related pain and bleed-
ing. lentify the names of these ulcers from the codes glven below.

P Q R
&) Oesophageal  Gastric Duodenal
(BY Gasinc Gastric Gastric
{C) DCuodenal Cesophageal  Gastric
{D) Duodenal Gastric Gesophageal

56,

57.

58.

Statementl: UV radiation causes photodissoclation of ozone into D-_, and O, thus causing damage to
azone layer.

Statement I : Ozone hole is resulting in global warming and climatic change.

{(A) Both statements | and Il are frue and slatement Il is the correct explanation of statement l

{B) Bolh statements | and Il are true but statement Il is not the correct explanation of slatement 1

{C} Statement | is true but slatement 1l is false (DY Staternent | is false but statement 11 is true

Match column | {common name] with column II [scientlf‘c name]) and select the correct nptmn from the
codes given below.

Column | Column/!l
{a) Feathar star {it Draco
) Climbing perch (i} Hyla
{c] Ostrich tiiiy Hemidactylus
{d} Flying llzard {iv) Rana tigerina
{e) Tree frog {v) Anabas

{wi] Strothio camefus
(vii} Antedon

(AY {a)-(vii), (b)-(¥), (c)-(vi), (d)-(ili), (e}-(iv) (BY ()0}, ()-(v). (c)-{vi), (d)-(ii}. (@)-(vii)
(C) (ap{vii (b)), (e)-{vi), (d)-(1), (&)-(i) D) (@), ()i, (o)D), (V). (e)-(v)
Which of the following is not a green house gas?

{A) Sulphur dioxide (B) Methane

(C} Carbon dioxide (D} Nitrous oxide
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59. Labeoand Catlaare
{A) Freshwaler fishes {B} Marine fishes
{C} Brackish water fishes (D) Al of these

60. Statement!: Chemical pesticides are more hazardous as compared to biopesticides.
Statement Il ; Chemical pesticides are mostly non speclfic and pollute the atmssphere.

(A) Both stalements | and tl are true and slatement |l is the correct explanation of statement |
(B) Both statements | and Il are true but statement Il is not the correct explanation of staternent |
{C} Statement | is true but statement 1! is false
{D} Statement | is false but statement Il is true

1 1 1 1 1 1 1 1
-+ o et A+
61. Thevalueof 375 " 58 " J3+va  Ja+v5 5446 V6+vT  T+J8 JB+8 'S
{A) © B) 1 {C} 2 (D) 4

n 2 Taq,-2 n
62. If 9 x3"x(3 V@Y 1 thenm-nis
37 %2 27

{A) 1 B) 2 {C} 3 (D) 4

40
63. Evaluate _zq"ﬁ+ 130 + /40 - 245 — J80 when it is given that J5 =2.236 and V10 = 3.162

{A) 10.796 (B) 10876 {C} 10.679 (D) 10.769

B4. Find the value of kif (x — 1) Is a factor of 4x" + 3x* — dx + k.
A} 3 {B} 5 ) 5 (D} -3

DIRECTION (65-66) : Study the following graph and answer the given questions :

Rasult of Annual Examination
In & High Schoaol

a0
80 80
70
60 60
=
5 L Al
R
=t}
— |~
[
v v v vl IX X
Standard

65. In which standard is the difference between the results of girls and boys maximum ?
(&) v (B) vl €} X {D) Wil

&6. In which standard is the rasuit of boys less than the average result of the girls?
(A} wii {8 IX iy v my VI
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67. The taxl fars in a city is as follows : For the first kilometra, the fare is T 10 and for the subsequent distance
it is ¥ 7 per kilometre. Taking the distance covered as x km and total fare as 2 v, a near equation for this
informatlon is
(A} Tx+y+3=10

68. Which of the following Is Euclid's axiom?

{A) The things which coincide wilh one another are not equal to one another.
{B} If equals are sublracted from equals, the remainders are not equal.

{C) The whole is greater than the part. (D) MNone of thess

B} 7Tx—y+3=0 (€) Tx+y-3=0 (D) 7Xx-y-3=0

69. Study the given humber series !
789768534289 72459297647
How many 7's are preceded by 9 and fellowed by 67

{a) 2 (B 3 (C) 4 (D) 5 ]
70. 2 =3 =6, then l:1+1 is
Z x ¥y
{AYy The {B) False (C) Can't say (D) Dataisinsufficient
z— —
1. Find the value of R: & —128-25 _ . 42, R
a-71 a-7
A 109 | 88 c) -84 o -64

72, Agame of chance consists of spinning an arrow which is equally likely to come
to rest peinting to one of the number, 1, 2, 3, ..., 12 as shown In figure. What
is the probability that it will point to multiple of 4.

A (B)

{C} O}

.p.l_; M|-

73. Awooden article was made by scooping out a hemisphere from each end of a solid cylinder, as shown
In the figure. If the height of the cylinder |s 10 cm, and its base is of radius 3.5 cm, find the total surface
area of the articla,

{(A) 280 cm?
{B} 72.68 cm?
{C} 165.46 cm?
(D) 374 cm?

74. The measurement of a window is 3.6 m x 1.8 m. If 6 doors are to he fixed in that window In two rows,
measurements of each daor should be

{A] 120 cm % 90 cm {B) 60 cm x 60 cm

{C} 24 cm = 18 cm (D) 240 cm x 180 cm

75. In the given diagram the triangle represents doctors, the circle represents players and the rectangle

represents artists. m

Which numbered space in the diagram represents doctors who are alse (\\ 4 13
pfayers and artists? 7 S
(A} 2 8y 3 2
1
@4 D s
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76.

7.

78.

In parallelogram ABCD, AB = 12 ¢m. The altitudes corresponding to the sides AB
and AD are respectively 9 cm and 11 cm. Find AD.

108 108
:”Cm
() joem © Eem

17 O M o
¥ P denotes "x', T denotes ~', M denotes '+' and B denotas '+, then the value of the expression
28BYPBTEMABZPS will be

23 -9
(A o (8) 42 (€) 32 £}y —

In figure, if fllm, m||mo={3p+ 5 and 0 = 2p)*, thenfindx +y+ z+ @ + 0, !
{A) 390° :;\ .
B) 420 25

{Cy 380

o) 180° ‘?

*

F 3

F 3

80.

B1.

B2,

S0F

If abe s 1, then

-4 -1 -1
(1+a+-1-) +[1+b+1] +(1+c+-1] =
b ¢ L a

{A) 1 {B) 0 _ cy -1 N (D) Mot defined
The average of nnumbers x, x,, X,,........ X is A. If x, is replaced by {x + a)x,, x, is replaced by {x + a}x,......
then the new average Is
x—1A+nx rA + (), n+ 1A + X,
(R (x+a)A @) CA @ Al gy R

Between two rational numbers

{A) There is exactly one rafional number.

{B) There are exactly two ralional numbers,
{C) There are infinitely many rational numbers.

m There are n::n.lv,,.r rational numbers and no |nat|unal number,

In an experiment, a coin is tossed 500 times. If the head turns up 280 times then the experimental prabability
of getfting (i} a head (jl) a talf Is

14 11 1112 12 10 8 N

Wz B wwn 9w ® 2628

JVB5+2 2
If N = \.'5:{;'5 -y3-22 then Nequals to
+5+1

(A} 1 B) 242-1 c) = (D} Al of these

—
If “a’ and 'b' are ratlonal numbers and :'N; =a+ bwﬁ, then b=
=

(A} 4 {8} 7 €) 6 o 8

|q__2_| o Class-9




85,

86.

87.
@A 1.19) B) (2.2)

B9.

a0.

In the adjeining figure, NPQR is a rectangle. N a

What Is the fength of NQ {in units)? "‘.? F:,"h
(&) 1 unit

{B] 3 unils ;f’x =,
(C) 7 units y o
D 14 units R =]

A spherleal ball of lead, 3 em in diameter is melted and recast into three spherical balls. The diameter
of two of these are 1.5 cm and 2 ¢m respectively. The diameter of the third ball is

(A} 2.66cm (BY 25cm {C) 3em D) 35cm

Point of intergection of the lines x + y =1 and 2x + 2y = 4 Isfare
{C} Mointersectionpoint (D} Many points

1
A swimming pool is being filled with water at a rate of 25 cm/minute. The owners started filling the pool

at 6:00 a.m. What time was it when the water was 2 metres 7

(A} 7:10am. B 7:20a.m. {C} 7:30a.m. (D} 8:.00am.

The altitude drawn to the base of an isosceles triangle is of length B cm and the perimeter is
32 cm, The area of the frlangle is

(A} 32 cm? (B) 40 cm? (C) 48 cm? (D) 56 cm?

A sum of money hecomes T 66890 after three years and T 10, 035 after six years on compound interest. The
sum Is

(A) T 4400 (B) T4445 (C) T 4460 (D) %4520

a1,

93.

Conical glass In flgure Is fllled with soft drink upto the brim. The quantity
of soft drink required to fill 30 such glasses is

{A) 381L

{B) 3.85L

{C} 45L

D) 2561L

Inthe figure AB = AC, CH= CBand HK || BC. If the exterior angles CAXis 140°, then
the angle HCK is

Ay 45 B 70
¢y 10° D) 30° 5 L
In flgure, AB || CD, find angle x.
B .
{A) 20° (B) 25° (Cy 30" (D} 35
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5.

96,

aT.

98.

S0OF

A triangle and a trapezoid are equal in area. They also have the same altitude. If the base of the triangle
is 18 Inches, then mean of parallel sides of the trapezoid is

{AY 36 inches (B} 9inches {C) 18 inches (D) Dala insufficient

The diagram below shows the cross section of six Identlcal marbles touching each other on a horizontal

n
surface. If the volume of a marble is —- cm’, calculate the length of P@, In cm.

{A) 9cm (BY 27 em Y,
{C) 18cm (D) 36cm "{;ﬁ‘s.g

The mean of the data x,, x,, ..., x_ is 102, then mean of the data 3x,, 3x,, ..., 3x, is

{A) 102 (B) 204 (€} 606 (D) 510
=
it a= -3+2*'-5—, then a2+al2=

{A] 14 | 10 {icy 7 D) HNone of these

Which is always a correct conclusion about the quantities in the equation y = x + 42
{AY ltis linear equation in two varisble.

{8) Whenthe value of xis negalive, the value of y is also negative.

{C) The variable y is always less than x.

(@) Asthe value of x increases, lhe value of y decreases.

Rohan ranks eighth from the top and thirty-eight from the bottom in the class. How many students are
these in the class ?

(A) 46 (B) 49 {C) 45 {0y 38
. The mean, median and made of the following numbers
7.4,3,56,3,3,2,4,3,4,3,3, 4,4 3,2, 24,354,343, 43 1,2 3are .
(A} 347,23 B} 333 iCy 4,33 i 54,3
SPACE FOR ROUGH WORK
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